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T @|= M (@) | 290,133| 402,316] 339,991 421,296 417,704| 307,681 205,315| 337,769|x 367,141 147,177| 202,340| 327,841| 302,728| 302,000| 171,564
% 5la A k(%) 2.3 8.5 6.4 0.6 3.3 5.8 8.2 1.2]- 5.2 3.6 -19.2 2.1 1.9 3.7 0.1
% EAIER AL (%) 7.9 15.4 11.6 7.3 4.2 9.3 0.8 34.3]- 9.5 -10.1 -6.5 3.7 11.5[- -8.1
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@ B At (%) 1.6 2.3 4.2 0.8 1.2 4.3 1.1 -1.7|- 3.1 5.2 -1.5 1.5 0.2 4.1 1.4
B4 E) At (%) 4.3 7.5 4.8 7.9 -0.2 9.7 0.6 31.8|- 14.8 -9.1 -6.4 3.4 5.6|- -6.8
s m® 2 (@) | 12,916] 51,313 23,556 0| 21,426 0 785] 10,772|x 0 322 240 o] 20,309 8,038 18
% g8 =(m)| 2267 30,132| 8,707 o| 8,210 0| -16,654| 7,435|- 0 -132| -43,751 o| 6,240 2,032 -367
sieRAZ(m)| 10,633| 25,533| 18,359 0| 21,020 0 780| 10,772|- 0 322 121 o| 20,309|- -728
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% ==& (mMm) 147.6] 168.6] 162.0] 152.3] 163.7| 184.8] 124.6] 140.2|x 1495 111.1] 139.0] 161.9] 141.1| 164.4] 1286
B @an A b (%) 5.3 3.8 5.0 7.0 4.0 11.9 3.6 7.7|- -0.9 1.4 -1.2 211 1.2 8.0 1.6
B R|aiERA (%) 0.7 2.0 4.3 3.3 3.1 11.2 3.4 5.7|- 6.2 -8.7 -11.2 6.0 -1.8|- -8.3
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B @an A b (%) 5.5 7.2 5.7 6.3 3.8 12.1 3.3 6.7|- 2.4 2.3 -1.5 18.8 1.5 7.4 2.8
B R|aIERA (%) 0.3 1.6 4.5 3.0 3.6 10.6 2.9 6.6|- 5.8 7.7 -10.9 5.3 -2.3|- -8.5
P SH|E & (B ) 10.6 11.9 13.0 9.7 15.2 27.0 4.6 5.3[x 14.1 8.5 9.5 23.2 3.7 7.1 8.1
B @an A b (%) 29/  -27.0 2.3 18.3 5.6 11.6 9.5 35.9]- -24.2 8.6 2.2 37.2 7.4 203 -13.8
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g B A E(8) 0.8 1.6 0.7 1.2 0.9 1.2 0.8 1.1]- 1.0 0.1 0.1 2.5 0.3 1.3 0.5
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WKW At (%) 1.0 1.3 5.7 0.0 -0.6 0.5 -1.9 0.7|- 0.4 0.4 0.5 -4.4 0.9 3.4 1.5
% A AR A (%) -0.9 13.6 3.8  -49.9 -1.5 -0.8 -1.5 -1.1|- 27.0 4.5 -4.0 0.8 -8.0|- 0.3
B = 1 - L E (%) 223 0.6 5.2 6.5 8.1 55 54.7 13.2|x 12.4 68.2 36.6 18.8 20.2 6.9 33.4
X B = (%) 6.24 2.09 2.70 2.12 2.10 1.42 2.77 7.26]x 15.53 6.51 4.01] 24.11 587 14.74 5.00
B W = (%) 5.83 0.88 1.30 2.12 2.60 0.90 2.43 6.55|x 15.14 6.00 4.46| 28.54 5.01| 11.33 3.59
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